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Sample questions for B.A (Honours)End Semester 5 Examination 2021
Paper- CC-11 (501) Symbolic Logic

Full marks :80
Time: 2 hours

Objective type questions : 15x2=30

1.Select the correct option of the following.
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(a) The use of Symbolic Logic is —

I. Tosave the time

Il. To save effort
lll. To solve the difficulty of language
IV.  All of these
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(b) The difference between the traditional and the symbolic Logic is-



I. one of degree rather than of kind
II.  one of kind rather than degree
lll. of degree and kind both
IV. of neither degree nor kind
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(c)Arguments are —

V. Inductive

VI. Deductive
VII.  Inductive & deductive
VIII.  None of these
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(d)When two simple statements are connected with ‘and’, then it is-

I.  Conjunction
[I.  Disjunction
[ll.  Negation
IV. Implication
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(e)Arguments are-

I.  True and false
Il.  Valid and invalid
lll.  Both
IV.  None of these
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(f) An argument is valid if-

I. If premises are true, then the conclusion are necessarily true,
II.  Premises are false and the coclusion is true

lll.  Premises and conclusion both are false

IV. None of these
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(g) ‘Rose is red’-this is-

I. Asimple starement

II. A compound statement
lll.  Both
IV.  None of above
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(h) Which of the following is a truth functional connective-

Iv. all the above
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(i) prepositions are —

I.  Either true or false
Il.  Valid or invalid
lll.  Correct orincorrect
IV.  None of these
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(j)Which one of the following is indicated by the sign O :

I. Implication
[I.  Negation
[ll.  Disjunction



IV. Conjunction
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(k)The method of testing validity invalidity of the syllogism by diagram is called -

I.  Method of conditional proof
II. Method of formal proof

lll.  Method of venn diagram

IV.  method of shorter truth table
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(I) The number of terms in any syllogism is-

. Two
Il. Three
lll.  Four
IV. Five
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(m) which of the following statement form is contradictory-

. Pv™p
. p.~p
.  pvq
IV. none of these
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(n) Which of the following compound statement is such which can be true if only
all its components are true-

I.  Hypothetical
[I.  Negation
[ll.  Disjunction
Conjunction
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(0) It can not be that a valid argument can have-

I.  True premises and a true conclusion
Il.  True premises and a false conclusion
lll.  False premises and a true conclusion
IV.  None of these
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(p) The number of rules of inference is :
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r.Which one of the following is indicated by the sign O :
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s.The number of terms in any syllogism is:
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VI. Three 9
VIl. Four <
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Short and long answer type questions :

5x4=20
15x2=30

1. If A and B are true statements and X and Y are false statements then
determine the truth value of following compound statement :
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(a) (AvX).(B.Y)
(b) X v (B.~Y)

3. If A and B are true statements and X and Y are false statements, but the truth
value of P and Q are not known, then determine the truth value of following
compound statement :
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(c) (Q.P).(~BvX)
(d) Pv~(Q.P)

5. Which of these statements are tautology, contradictory or contingent:
(@) (a>aq)>q
(b) [(p 2q) Dpl2p

(c) (p>~p).(*p> p)



6. Explain the relation between the validity of an argument and the truth of its
premises.
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7. What are tautologies, contradictory and contingent statements ? Explain.
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8. What do you understand by simple and compound statements? Describe the
different kinds of compound statements ?
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What is symbolic logic? Explain the nature ,scope and utility of symbolic logic.
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10. Determine the validity and invalidity of the following argument forms with
the help of truth tables.
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(@) P2 (g2 )
P> q
L pOr
(a) (pva) = (p.q)
~(pva)
. ~(p.q)

(b) (p2q).(p> 1)
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(c) P2 q

q=p
..p.q

11. Use truth table to decide which of the following is a logical equivalence .
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(@) (p2q)= ("p>~q)
(b) [(p. (qvr)] = [(p.q)v (p.r)
(c) (pva) = (~pv~q)

12. Determine the validity or invalidity of the following arguments through Venn
diagram.

a. All writers are poet.
Some wise are writer.
;. Some wise are poet.

b. All teachers are educated.
All teachers are honest.

.. all honest persons are educated.
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c. All learned people are intelligent.

Some Indians are not intelligent.

.. Some Indians are not learned people.
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d. All post graduate students are graduates.
Some businessmen are graduates.

.. Some businessmen are post graduate students.

Tt ATTR L I HTAF &

Fg, ATA AT &

TATT Foeg AT \TAHL G & .

Dr.Abha Jha
Dept. of Philosophy
DSPMU






